Inverse Trigonometric Functions

We restrict the domains of the six trigonometric functions so that
they will be 1-1 and therefore have inverses.
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Simplify the following:
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Simplify the following:
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Evaluate the following in exact form (In radians):
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Check your understanding:
What is sin™*(3)
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Simplify the following expressions:

sin(sin™? \/75) = __‘/:3 cos(cos™t1) =
&

sin (sin™10.37) = cos(cos™} %) =

tan (tan™*1) = / tan(tan™ 3) =

Combining Trig Functions and Inverse Trig Functions:
Evaluate the following expressions:
sin (sin~'z) =z forallz suchthat —1 <z <1
cos (cos™'z) =z forall zsuchthat —1 <z <1
tan (tan~'z) =z forallz



Simplify the following expressions:
sin”! (sin §) = sin~! (sin IF) =

sin~! (sin &) = co;s—l (cos ) =
(-5 E778) =
s (- | cos” (3830%)

2 tan~! (tan ) =

cos™t (cos %) =

cos5 (092 557) tan' (p) = O

2,74 859

Combining Trig Functions and Inverse Trig Functions:

Evaluate the following expressions:
sin ! (sin v) =z forallzsuchthat — I <z <

cos ' (cosxz) =x forallzsuchthat 0 <z <
tan~' (tanx) =z forallzsuchthat — § <z < %
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Using Triangles to evaluate combinations of trig
functions and inverse trig functions:

Remember that an inverse trig expression can be interpreted as an
angle with given trigonometric properties. For instance, the
expression sin "1z is an angle whose sin is x, the expression
cos~1 x2 is an angle whose cosis z2. Use this idea along with
diagrams involving right triangles to evaluate the trigonometric
expressions below.
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